TpuroHomeTpuueckue
ypasHeHUs

APKCUHYC



cost=2/5
=4+ 2TIK,

2defFKgnuHa dyau
AM,

atl=-tl




t1 = arccos 2/5 t2 = - arccos 2/5

X/

t1€[0;TT/2 ] arccos 2/5

S



cost=2/5

L

L =arccos 2/5 + t = -arccos 2/5 +

- \ /

t = tarccos 2/5 +

W



YT0 Xe Takoe ?

%
@

370 Yucno (anuHa ayru AM), KOCUHYC

koToporo paeeH 2/5 v KoTopoe

npuHaanexut otpesky [ 0; /2 ].



cost =a

) £
cost=-2/5 / S \
f = pH2TIK, - d |- A

O x
2defFK9nuHa dyau
AM,
at2=-tl P(t2) T~—1

t = arccos (-2/5) + = - arccos (-2/3) +

2TTK \ 211'}/
t = tarccos 2/ +
2ITK




YT0 Xe Takoe

" N
"/ / i \ N\

VAN AN
1 1 |

7 [
STO Ymcno (.u.lemu HY!I W r\M), KOCUHYC

KOTOporo paseH -2/5 u KoTopoe

NpUHAANEeXUT oTpesky [ 1/2; m].



vnpeagerieH

Ecnum |al<l, Tearccos a
(aQpKKOCUHYC a) - 3TO TaKoe YUCHOo
u3 otpeska [ O; 1], KOCUHYC
KOTOpOro paseH a.

Ecnu |al<l, TO
cos T =aq,

= —
arccosa=t {Os'rsn.



OOLwWwunu BbIBOA O peLleHnn

aBHeHVIFI cos t =a

Ecnu |al<1, To ypasHeHue cos t =
a umeeT pelueHUs

t = arccosa + 21TK, k€
Z



[lpnmep

BeiumcnuTb: arccos 3
PeweHwue:
TTycTtb arccos 7 = t. Toraacost = 3 u
t e[ O; m]. 3HauuT, T = /3,
nockonbKky cos m/3=3umn/3e[0;
1]. UTak, arccos 5 = m/3.




Teopema

[na nroboroa e [-1;1]
BLINMOJSIHAETCS pABEHCTBO

arccos a + arccos (-a) = .

BtY

arccos a + arccos (-a) =
AM + AP =PC +AP =

AC=T1




Cnacunbo 3a
BHUMaHue!




